20216 RUFIEYvH—0-400)— 0 (158) 58 %

S <FR—L> *F B KTox4A>| B EZ
AR1TH(H) | =sEx| 4 |vs| 1 Oz |#2 |HeH SIES EHFQ  |HEUIE
FEHTEALEG @ ER| 2 |vs| 1 |E#E =gax /MIFEZ, KEE# AR
[55 18] ® x#| 1 [ vs| 1 |k-LamBA |EE | HISEA
B4l @ HE| 1 [vs| 0o [AkE A [fEKFEX
IE.ER
— 536 — @ XH VS B’RE ER [10.00~
BEBEBC Q| =BET VS B X+ |11:.00~
(55 28] 2022461 A 236 () ® Oz Vs K-LAMBA |=s T |12:00~
EREFEDE @ ER VS HE 02%|13:00~
g @R
63208 (H) ) Bl 1 [ vs| 2 [EE NREEEIER FREE— WS
RE&ARATIZGEEH) ) ER| 3 |vs| 1 |X# HE | KEEIE#. %&KA. OG. 0.G.
[5538] |(13.00~19:00) @ | k-LAMBA| 0 |vs| 3 [=8=ET |ER . RIEED
@ AxrEl 1 [vs| 2 [QzE Kk-LAMBA | B A B A5t FIERNQ
TE: AR
—9 A BB — D | K-LAMBA VS BRE =571 [10:00~
2022418308 (H) @) B VS X+t K-LAMBA | 11:00~
[5R480] |8 ki A T2 G(EIBTH) ® Oz Vs ER Bz 1200~
@ | =®8T VS R 0Z:#|13:00~
TE.=BET




S <FR—L> i} B KTz 4A>| B ?%)f—in% _
TURTUECE) @ | axsl1|vs| e |=sET B2 |gmaax ARRE. L
RIE @ WE| 0 [vs| 1 [K#t NRE RIS
(55 58] 108178(H) ® | k-LamBA| 0 [vs| 4 [Em ®E INIEEZ IR, BEAKIED
EiEE N E @ B 1 |VvS| 2 |OzE k-LamBa |E LR — FIBERNTQ
ITE FE
11H218(H) ©) BDERE VS ER 2% [10:00~
BEIEFBC @ B VS K-LAMBA |AKR£|11:00~
(2268 ® x4t Vs =HET [EiE [1200~
@ aziE VS HRE AFt [13:00~
FE:OZ2E
12A5H(H) | =®8x VS EE X+ |10:.00~
AAEEBRR—VIEE @ NRE VS B =81 |11:00~
(55 78] ® | K-LAMBA Vs e AkZ2|1200~
@ X# VS Az K-LAMBA | 13:00~




[2021)

=FET

Az

Xt

EL

K-LAMBA

Ooz:#

=FET

Az

K-LAMBA

Ooz:#




[IEGr] | ez | &#5% BA | BE | £H | #B%
=FET 1 3 9 13 2 11
&2z 2 3 9 9 2 7
oz:# 3 3 6 5 6 -1
x4t 4 3 4 3 4 ~1
pFE 5 3 3 4 5 -1
FE 6 3 3 2 3 -1
K-LAMBA 7 3 1 1 9 -8
REER 8 3 0 2 9 =1




[BaE] | =@ E245 E34 20 E54 £64F £ | [5oF207
R i T oms ATy
A5TO B El%ﬁ'lzaeﬁh

p.e i LINEHA 0.G. RIBRZ

AEER | EAER FHER

FE kX SRR TE #41

K-LAMBA |ZWEEA -

B2 i Bt B

O02# |REHKE IR hIERNQ@




[EELBigE] | #mw Zoar PR P Z5a0 Zoar Z7a

=FET -

EZ - s B s ERE

K-LAMBA - Z& Rlath

Ooz:# -




